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Speed Test



1. 6 ÷
1

2

a.
1

3

b.
1

12

c. 3

d. 12

Fractions



2.     3.05×2.02

a. 0.6161

b. 6.161

c. 61.61

d. 61.6

decimals



3.              
6𝑦8

2𝑦2

a. 3𝑦6

b. 3𝑦4
c. 4𝑦4

d. 3𝑦10

AlgebraSimplify



4. 4+6÷2×3

a. 13

b. 5
c. 15   

d. 4

Order Ops



5.      9 is 30% of □.

a. 2.7

b. 27

c. 30

d. 270

percent



6.    2(x+4)=2

a. 1

b. -3

c. -4

d. -1

AlgebraSolve:



7.         -5-(-3)

a. -8

b. -2

c. 2

d. 15

Integers



8.      
2

6
+ 
3

3
+ 
1

6

a. 1
1

2

b.
6

15

c.
2

5

d. 2
1

6

fractions



9.    What is 2% of 60?

a. 0.12
b. 12

C. 1.2
D. 120

percent



10.      487 ÷ 6

a. 45 R7

b. 75 R6

c. 71

d. 81 R1 

Division



Time is up!


